Rezultati tihih

vaj] OPTICNE KOMUNIKACIJE

Priimek in ime l.vaja 2.vaja 3.vaja 4.vaja Vsota |Ocena
6.3.2014 |27.3.2014 |17.4.2014 |15.5.2014

1 |Aceski Sotir 5 7 2 7 21 28%
2 |Atanasovska Maja |8 7 6 6 27 47%
3 |Burger Gregor 7 7 6 10 30 56%
4 |Cerar Gregor 8 9 6 7 30 56%
5 |Cegovnik Tomaz 12 9 7 10 38 81%
6 |CucCnik Grega 7 6 4 9 26 44%
7 |Janc Jure 9 8 6 7 30 56%
8 |Leben BoStjan 7 5 6 6 24 38%
9 |Markun Tomaz 7 8 4 5 24 38%
10 |Meden Rok 12 7 7 6 32 63%
11 |Menegatti Ozbolt |4 - - - 4 0%
12 [Mihelj 3Jernej 8 8 5 10 31 59%
13 |Mili¢ 3Jernej 9 10 4 10 33 66%
14 [Milojevi¢ Nikola |5 11 7 9 32 63%
15 |[Mrak Sebastijan 11 8 9 8 36 75%
16 |PerovsSek Marko 8 7 7 6 28 50%
17 |Rakef Gregor 7 7 6 5 25 41%
18 |saje Tadeja 5 4 4 4 17 16%
19 |Sorta Jernej 11 10 11 12 44 100%
20 |stolnik Rok 8 10 6 9 33 66%
21 |strmole Jure 9 10 7 8 34 69%
22 |Sekuljica Dbarko 9 10 6 10 35 72%
23 |Urh Primoz 12 9 6 10 37 78%
24 |vidic 3Jan 7 10 8 10 35 72%
25 |vizjak Blaz 8 7 7 8 30 56%
26 |ZupanicC Peter 10 8 6 9 33 66%
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